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BRE —TH 1 5%M9 =i 103 8FH1
BREE—TH 1 5%H10 —Hi 103 8%FHG6
BRRE T H 1 5%&HM1 2 =Hi 104 0%&EHA4
BREE T H 1 5%&H1 5 #3105 7&FHT
BRFE " TH 1 5%H#1 8 #1106 4%FH9
BT H 1 6%&M1 i 2 9% M1 7
BREE T H 1 6 %HL 2 =i 1021 &3
BREE T H 1 6%H3 =i 104 0FH 7
Bl —TH 1 6%M5 =i 104 0FH1
B TH 1 6%&HS =i 104 2%FHS
BREE—TH 1 6%&M9 =i 104 3%FHS
BREE T H 16%&H#10 Wi 104 3FM1
BREE T H 1 6FH1 1 =i 104 3%&H2
BREE T H 1 6%&H1 4 =l 104 4FH1
BREg " TH 1 63%H15 #1004 4FHT
BRed —~TH 1 6%&H#16 ZHE 104 4%ML 1
EREE T H 1 6 %M1 9 il 1047 &EMT
RS T H 1 6&M22 =W 104 0&FH2
BREg " TH 1 6%H#2 3 =l 104 2%
BREE T H 16%&H#25 “HE 1021 &2
EREE T H 1 6EH2 6 =i 102 1%
BREE T H 1 6&H2 7 #1022 7
BRE T H 1 7%&M1 =i 102 2% 2
BREE_TH 1 7%&HM2 “Hi1026%FM1




BrERT IB{ERT
BB TH 1 8%M3 —Hi 102 2%&H3
Bl —TH 1 8%&HM5 =W 102 2%HM1
BRES T H 1 8&M7 Wi 101 1FH
BReg —TH 1 8&M1 1 g 101 4%
BREE_TH 1 8%&H12 —Hi 7 1 8FM 1
EREE T H 1 8%FH1 5 =i 7 1 9 &M
BRE T H 18%&HM17 Wi 99 0F M1
BRFE " TH 1 83%Hi1 9 =i 100 8FH1
R TH 1 9%M1 —Hi 95 0FKM4
B T H 1 9% 3 i 96 1FMS | SERHEE
BREE T H 1 9%HM4 Wi 115 8&EHA4
BR T H 1 9%M5 =l 101 7FH
BREE—TH 1 9%M6 “Hi 101 6%&FM1
B~ TH 19%HS8 =i 70 7HEML
BRF —TH 19%HM10 W 711 FH 2
BREE T H 1 9%H1 2 W 7 1 0% M
BREE—TH 1 9%H15 —Hi 10 1 3% H
B T H 19%#M17 =W 102 4%H3
BREE T H 2 0% 1 =i 104 5%FHS5
BRE T H 2 0% 2 =i 104 5FH6
BB TH 20%&HS5 —Hi 107 6&EHS
RS T H 20%&HM7 =W 104 6%FHM1
B T H 20%&H#1 1 “Hy 104 6% 1
BREE T H 2 0%H1 3 “Hw 1017 &EMT
BRF T H20%M1 7 Wi 115 5%&HS
BREE ~TH 20%H#2 1 =i 101 8&EH2
BRp ~TH 20%H#2 4 “#y 1045%H1 0
Bl ~TH 20%&H#2 5 “Hi 6 8 3FMH 1
BRFE T H 20%HM29 Wi 104 5&FHT
BREg " TH 2 0%H#13 0 =i 104 5%FHS
BRE T H 2 1%H1 i 104 7FHS
BREE T H 2 1%H 2 Sl 104 7FML [T A=K
BREE T H 2 1%&H2 Wi 104 7FM
BRE T H 2 1% 3 =i 105 1%
BR T H 2 1%H4 Wi 105 1 &FH2




FrET IB{ERT

BT H 2 1%H6 =i 105 5%&EH2
BT H 2 1% 7 =i 105 5%&H3
BREE T H 2 1% 9 = 105 2%FH3
BREE " TH 2 13%H#11 0 #1005 0FH1
BREE—TH 2 1% 12 =i 105 5%&H6
BRRE —TH21%&H15 =W 104 9%FH3
BRFE T H 2 1% 1 6 =i 104 9FMH 2
BRFE " TH 2 13%#1 7 =i 104 9FH1
BT H 2 2%&H1 =i 106 4FHT
B T H 2 2% 1 =i 106 5%&FMT
BRFE T H 2 23&H5 = 106 0FH1
Bl T H 2 2%H6 =#i 106 0&KH4
BT H 2 2% 8 =i 106 0FHS
BT H 2 2%H9 =i 106 0FH3
BRFE T H 2 23%H1 1 =i 106 2FH1
BRFE T H 2 2%H1 2 #5106 9FH3
BREE_TH 22%H15 “Hi 105 5%&H1
RS T H22%HM16 =i 105 2% 1
BREE T H 2 23%&H1 7 =# 105 2%FHS5
BREE T H 2 2% 2 2 =#i 106 2%&H3
BREE—TH 2 2%H2 4 —Hi 106 2%&H2
Bl —TH 22%H25 —Hi 106 3%
BR T H 2 3% 3 =i 105 8FH6
BREE T H 2 3%&H9 —Hi 1054%FH11
BREF ~TH 2 3%&HM10 “H 1054%FH10
BREE " TH 2 3%H1 3 #3105 4%H6
BREg —TH 23%&H#17 —Hi 105 8&H2
BREA T H 2 4%H1 =i 108 8&FM5
BREE T H 2 4 %H 2 =i 108 8FH1
BR —TH 2 4%He6 #3109 2%&H4
BREE_TH 24%&HM7 i 109 4%&H3
BREE T H 2 4%&HM7 #1099 4FM3 |[TFNTAF =R
BREE T H 2 4%H 8 #5109 5FH3 |[FF AT
BRE T H 24%#9 #3109 6&HS5
BREA T H 24%H1 1 —Hi 109 8%&H3




BrERT IB{ERT &
BREE_TH 24%H1 3 —Hi 109 7&EHS
BRF_TH 2471 5 =i 109 6%&FHA4
BRES T H 24317 Wi 109 4FM3 |[FFATABE
BREE ~TH 24%&H#17 “H1094%FM3 |[FF T ADH
BREE—TH 24%H18 —Hi 109 2%FM1
BRRE —TH 24%&H#20 Wi 109 1FM2 [FIEAITH
BRES T H 2 5%&HM2 =W 108 3FM1
BRE T H 2 5% 3 =i 108 7HFHS
B TH 2 5% —Hi 108 9FM1
Bl —TH 25%&H1 1 “Hig 108 9FMH S
BRFE T H 25%M1 3 Wi 108 9FH T
BRFE T H 25%H1 4 =i 108 8FH3
BREE—TH 25%H20 i 108 1& M2 |7 4 h—TBtEA
BRRS —TH 25%&H#20 i 108 1 &2 |7 4 h—I B
BRF T H 25%HM20 Wi 108 1 &2 |B
BRE T H 2 6% 1 =i 1091 &S
BN T H 2 6 &4 —Hf 108 9FM 10
BT H 2 6%H7 =i 108 9FM4
BRES T H 26%&M9 =i 109 3%FHA4
BRES T H 2 6%&M1 2 i 109 6FH1O0
BREE—TH 26%H16 —Hi 109 6&FH9
Bl —TH 26%HM1 8 =i 109 6%&EMS
BREE —TH 26%&M2 1 i 109 6FH6
BREA T H 2 7%H1 Wi 109 7HEM
BREE T H 2 7%&H5 =W 109 9%FM11
BREE T H 2 7%&%H6 #1009 9% 2
BR T H 2 7%FH7 “Hi 109 8&HA4
BT H 2 7% 8 =i 109 8&FMS5
BRE T H 27%&M10 =Hi 109 9FHS
BREE T H 2 73%H#1 2 =W 109 9FH 1
BREg T H27%&H16 Sl 111 4%
BREE T H 2 7%&H1 8 “H 111 6%&MH3
BREE T H 2 8% 1 W11 26%FM1
BR —TH 2 8% 3 =i 105 3FH6
BR T H 2 8FH5 ZHi 105 4% 1




BrERT IB{ERT 5&
B TH 28%&M7 i 105 4%FM1
BREE T H 2 8% H 1 2 =W 105 3FH1 2
BRF T H 2 8% 13 Wi 111 8FEHA4
BRFE T H 28%H16 “H1120%M5 (V= IFTH
BREE T H 28%M16 i 11 20%&HS
EREE T H 2 8FH12 0 Sl 1125FHM1 (M ART— L2 1
BRF T H 28%&HM20 Wi 112 5%
B T H 2 9% 1 “Wi 115 7 %M
BB TH 29%H4 —Hi 115 5%&M1
BRES T H 2 9%M7 =W 115 4FH
BRES T H 29%MS Wi 115 3%FHS
BRE —TH 29%H#1 1 i 115 2%
BREE—TH 2 9%H 18 i 1126 &4
BREE T H 2 9FHI1 9 =i 11 26%&H3
BRF T H 29%#20 Wi 115 1%
BREE T H 3 0FKH 2 Wi 7 2 0 &M
BRr T H 3 0% 4 —Hm 717 EH
BREE T H 30%&M7 =i 7 1 3%
BRF T H 30%&M17 =i 7 2 3% M
BN T H 30%H#2 3 W7 2 1%
BRE T H 3 1%&HS5 —Hf 6 7 8 Fh aF—I% s h U]
BT H 3 157 =l 101 9FMS (a7 —Ukr FU AT
BR T H 3 1%&H9 =i 6 9 9 FH
BRE§ T H 3 1%&H13 —#i 6 9 6 &M 1
BRE T H 3 1%&H#15 =i 6 8 8 1
BRFA T H 3 1%&H1 7 =i 9 6 9FH
BREE T H 3 1%&#20 =W 6 7 SEHS
BR T H 3 2%M5 Sl 116 2%
BR T H 3 2% 7 Sl 116 2%FH2
Bl T H 3 2% 1 2 =W 115 8%
BRE§ ~TH 3 3%&HM3 “Ey 115 1&H4 | DW—HTFT 4T 7—H
BR —TH 3 3% 3 =i 1151 &4
BR T H 3 3% 4 Wi 115 1%
BREF T H 3 3&M7 Wi 112 7&FMS
BRE§ T H 3 3%&HMS W11 46%FM1




BrERT IB{ERT

BREE—TH 33%&H10 i 114 6%FM1

BT H 3 4% 7 Wi 111 8&EHT

BRES T H 3 4%&HMO Wi 112 3%

BN T H 34%&H10 Wi 1124%FM3 [TV v HB
BB _TH 3 5%&M2 “Hi 111 6&EHS

B T H 3 5% 7 Wi 110 0%FM T

BRF T H 35%&HM10 Wi 1100%FH9

BREE —~TH 35%&M1 1 —HH 110 1%M10

BREE T H 35%H1 4 HRE 6 0 4% 2

BREF T H 35318 111 3%M 1

BRFE T H 35%&HM20 Wi 111 8FEHS
BREE T H 3 6%&H1 =W 111 3%M10

BB TH 3 6%&M2 i 111 3FM

BREF T H 3 6%&M3 =W 111 3%FHS

BRES T H 3 6&M7 Wi 111 4%

BREE " TH 36310 =i 110 6%FH6
BREE_TH 3 6%&H1 2 “Hi 1101 &2

BREE T H 36%&HM13 Wi 110 1%

BRE T H 3 7%/ 2 Wi 11 20%FHT

BRE T H 3 8% 1 S 114 3%

BB _TH 3 8%&M2 —Hi 114 3%FH3

BREE T H 3 8%&Mh4 =i 114 3%H6

BR T H 3 8%FHM5 i 114 3%FHS

BREE T H 3 8%&HM6 Sl 142FH1 AV —7
BREE T H 3 8%&H1 5 =i 114 0%

BREg " TH 3 8%H2 0 Wi 1141 %S

BREg —TH 38%FM2 1 Sl 114 1%

BREE T H 3 9% 3 =i 115 9%&H4

BREg T H 3 9%&HM6 =W 116 3%FH2

BREE T H 3 9%H1 2 =l 116 3%

BREE T H 39%HM15 Wi 116 3%H6

BRE T H 3 9% 16 =i 116 7%

BRFE T H 39%HM19 Wi 116 8FEHT | ZHRT N— |
BRE§ T H 39%&M19 “#i 116 8&FMT |NEa—R
R T H 40%H6 “Hi 6 8 7 &S




BrERT IB{ERT
B TH 4 0%H6 —Hfi 6 8 7&M 10
B _TH40%FM10 W7 25FM2 (A xRy 21
BRES T H 4 1%&H#2 Wi 6 7 7TEMT
BRES —TH 4 1%&H#3 Wi 6 7 7TEM
BT H 4 1%H6 —Hi 6 7 7THEM
BRES T H 4 1&M7 =W 6 7 7T &M
BRE T H 4 1%H#1 2 =i 6 7 7EMA
BRFE T H 4 1%H16 —Hy 6 75%&H10
BT H 4 2%M1 —Hii 6 8 O &M 1
B T H 4 2% 8 i 6 8 7HM 1
BRFE T H 42%HM1 2 =i 6 8 5 &M 1
BREE ~TH 4 2%&H1 4 ¥ 6 8 1 &M 3
BREE—TH 4 2%H15 —Hii 6 8 O &M 3
B T H 4 331 =i 116 8FH1
BRFE T H 4 3%&H4 =i 116 5FH6 (A
BRFE " TH 4 3%H1 8 Sl 116 7EFHA
B TH 4 4%&HM7 i 113 9%FM1
BRFE T H 4 4%H1 4 =i 113 9%H6
BRF T H 44%&H#15 Wi 113 9%FHS
BRFE " TH 44319 =i 113 8%
BREE—TH 44%H20 i 11 36%&FMM1




ARINT B




BrERT IB{ERT
HSTH 2 6%FM9 HRE S 6 9%FM 1
HgR ST H 2 6%&M1 0 FBE 5 6 9 &M 2
h R TH 2 6% 1 4 BEEE 5 6 6 %1
RIS TH 263816 HEE S5 6 6%M4
HSTH 2 7&M 1 HEE 59 6 &M
HFRRTH 2 7% 3 FHEE 5 8 6 &M 1
hRTH 2 755 BEEE 5 9 0% 1
FROLRSTH 2 786 HEE S5 8 6 &2
HSTH 2 787 HRE 5 8 23 M 7
HRRTH 2 789 HEE 5 8 2% 3
h R TH 2 7% 10 BHEE 5 8 1 %M1
RO RSTH 2 7381 1 HEES 7 1%/M
FRRTH 2 7% 1 3 HEE 5 7 0%
P RTH 2 7&M1 5 HEE 5 6 7 &Hh
h R TH 2 7%F#2 0 BEE 5 6 3%
RIS TH 2782 1 HEE 5 6 4 & H
FRSTH 2 7% 2 3 HEE 5 7 5 %M
PRANTH 2 7?2 4 HBE 5 7 4 %M
hRTH 2725 EHE 5 8 0%
RIS TH 2 782 8 HEE 5 8 5 &
FRRTH 2 7&#M3 1 HEE 5 9 7 %M
HgRRTH 2 7E&HS 6 HEE 5 9 6 &Hh
FgSTH 2 8 &M 1 HEE 5 7 9 %M
HFRRTH 2 8 &4 HEE 5 7 7 &H
h AT H 2 8 &5 EHE 5 7 6 %
A TH 2 8% 1 0 BEHEE 5 6 0%
FRRTH 2 8FKH1 2 HEES5 7H&M3  |7rAS—FRI
Hg ST H 2 8&M 1 3 HEE 5 5 1 &Hh 77 P
HRTH 2 8%FH1 6 BEE 5 5 1 %
RO RTH 2 9FH 3 HEE 5 5 3%
FYgRTH 2 9% 1 3 ERE S 4 7HM6
h R TH 2 9% 1 4 EBE 5 4 7%KHS
HRRTH 3 0% 1 HEE 6 0 2 %M TIT A=
LR TH 3 0%FH 2 HEE 5 9 8 &
FSTH 3 0&FMT7 HEE 5 8 4 %M




BrERT IB{ERT
FRRTH 30FM1 1 BHEES 4 1%M1 7
R ATH 30EH L 2 EHE S5 4 1% 16
h R TH 30%HM1 3 BEE 5 4 1% 5
hiRTH 3 0% 1 4 BEEES5 4 1K1 5
FRRTH 30K 1 6 HEES 4 1%M1 2
R ATH 30EH L 7 EHE S5 4 1% 1
h R TH 30%FM1 9 BHE 5 4 8 %Ki 4
hATH 30%FH#H20 BEES5 4 1K1 3
FRRTH 30FM2 1 HRE S 4 1%M6
HFSTH 30%FM2 5 HRE 5 4 6 %M1
hiATH 30%H2 8 BHE 5 4 7 %3
ST H 30FHM3 O HEE S5 4 7H&MA4
FRRTH 30FMM3 2 HRE S 4 0% 8
ST H 30%FMS 3 EREE 5 4 0 %M1
h AT H 30%H3 4 BEEES 4 0%MT7  |TT74x%
hXTH 30%FH#H3 9 BEEES5 4 1%KH#2 0
FRRTH 3 0%FHM4 0 HEES 4 1%M2 1
FRATH 30%EHA4 S5 EBE 5 4 1% 5
h R TH 30%M4 6 BEE 5 4 15K 18
hiRTH 30%H#4 7 BHEES5 4 1K1 9
FRRTH 3 0%FMS5 0 HEE 6 0 0% 5
HFRRTH 3 0%FMS 1 HEE 6 0 0 &Hh
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